.@)(/\lﬂ ﬁu iah] ?TJJ'

C CHAINSAW STAND SET 1 1 - “
cECS115

SUMO

INDUSTRIAL

udaussaUukaals
e yunafkeyldlauu
msanpnumuTu TudoviGuuay
ﬂS:I(’IUIUGTU\)WU Super-large oil kettle,
Guard to prevent wood Long-lasting.

Chips from splashing
When using.

Jukyudksulsuavly
Chain adjustment knob.

Wuidos 22 Wu udls uuna 11.5 T odulkey Suve aliado
Chain 22 Teeth Bar chain size 11.5" Large handle, easy to grip.

500.-/5et

20 Set/Carton

aunsaiu1aSIU / Standard Accessories

o - © 1 msalovru
A e 2_WAsau
(2) 0 sagudaushi
: Y “mo : 4. WavIfes 6x3/8"
QO —mlleil ™ 5.01$18 11.5 T - m
(o) 6. ns:0ovthiiu goyanvinAlnA (Technical Data)
(7 1Trrn 7. Ussivlioa Kollan . " -
T Y Y - | e 3aquAs - Guide bar material Spring Steel
o et ST TR 9. fodulia:ioadksusa  I4QN - Chain material High Carbon Steel
_ YuNQINoVIfigS - Gear size 6x3/8"
AtuduuQ _ yunaushs - Bar size 29 cm (11.5")
- drsuldouduinsovdesiiidu | $1oudUlS - Chain teeth -
. USzﬂaU|n'S'aD”a:60|ﬁu\j']8 UI:)U § e 45 F]:)']UU'T:)UDUT& - Chain circle length 79 cm
nunsolunsaagnavcinog AWKUWDLES - Chain thickness approx. 4.7 mm
e . 8 duoudadaly-Drive link quantity 45 sections
35?6 : lsdanconol | 1duriqugna1vdall - Wood cutting diameter (depth) 25 cm
5 FoapC . _ ] Bracket overall length 39 cm
qmaaullnsffi qlfu uuugmsﬂuu_amKumfanmnfr_]ua\)n'llms:nsa\lﬂ Junadadu - Handle height 18 cm
||a:nqu1TuamunnaaomuonuUaDﬁj lla=ursnuuiainu 11.5 Ua . .
o S i i el UuNQ3uA - Dimension 20x42x18 cm
(@wiAngreikual3) Karhumvusene:lisuiavaulagivau [teses :
UNKUNAUAN - Weight 1.8 kg

InSoVLoE : POWER TOOLS Cq’regorie08




Viodel :

lﬂéOJﬁoﬁu =b014

Py U AS:IUDY UU 1Kkan
Dry and wet cutting, cut various construction material

Jm e.g. marble, stone, tile, concrete and steel.
'— n a0aNaDIALNULIENINSAGVEA
_____ By ' ightest - Class Vamished Copper_Wire.
oUnsmmsu (Options) : 1 6 0 OW m 300
TBow wisen lmmmm wﬁrmmﬂo G

U‘LH'IGULnCﬂh[U oonIuULNIWORWaNauruTEOU

Large trigger switch design for more comfortable using.

YUAS (Hole) 16/20 mm

13600 RPM

gnsumsisonucioitiooiduoaiunu

Self-lock switch for continuous operation.

@R

Jenonuau suns:BUIKUN:T00
Anti-slip handle to prevent sliding.

mdaievdhia

Joonuinuyuoinnismoiu

Wheel guard protection.

UbUSURsplEN

RAons:AuAcWEN
JOVMSIBSOD
Depth adjustment knob.

li&AENRdodMSIa
oghooiaag

Bevel cutting and cutting depth
can be adjusted easily.

U RIIDIISY

wonwiatesiumsizonu

weRes panoe.

ADWINENasDED NUCoMSaNHse

MW (Armmetore)

Strengthen base for cutting more Wear resistant hiah precision gear shaft.
stable. — c
urﬁtummnﬂmv@m

rioIndaafinuAcuSouldaD 1Boiso MnmA 4 Pc S / Ctn

mummmaoum nawwhiad
sneAnUSou lasduialouluwannossa

nNUCEMSaNHSo acrnsmdsmij

wWuriimdrnaaeenid
ioidendnusocu ! } ~ s ]
Wear-resistant high-silver-copper commutator. Insulation with special shape, made of heat-resistant Uo“u"m {SuggeStlon)

material, high strength, cooling and like a blade which i = = = C.
i1 K2 UK Ui will shake the dust out. WousansmwiumsTsou Aosidenisiucals

soeUeonuanduoinAousSeu

nsawwhia:EoanUsN mhvrda 7
Safety plastic washer that protects m \<

ball bearings from dust and dirt.

T { M@m nnindeudos "wiolaes o1Os" SnBu IHLnﬂL_.InUGﬂURthTDD’]U _
] rrthidepnuMSNSINNoINIAVKENKSoUUNEONQaKNLN 8nno Fair Sficfait wie TV AUiEEel £A0411) i 22 Al 2
y i = - e = the usage.
goioasunenouUSoU Iaduialouauousun 2 Nsoadoorulwwh

A0000SHINDIFAKENUIM: = =
s ; it — UoUanIVINAURA (TECHNICAL DATA)
High speed cold-rolied silicon steel. The stator is enameled with *Powder Varmish" which prevents from the L
metal impact and the concrete scraps entering. It helps cool down and isodUWWA
= works asthe second insulated layer to ward off the short circuit when Rated Voltage 220V
9UNSNUUIASTIU (standard Accessories) the metal Scraps get in.
3 —— AW
i P i ; Rated Freguency 50Hz
1. Ussiothnene 1 U (Flat wrench 1 Po) @t@m o @ @ p—
2. Ustdondoi 1 OU (sodket wrench 1 Pg gk Qs Beering) : No-Load Speed 13000RPM
R ¥ o b 6200-RS  629-DW 607-RS  606-Z réDiwWWA
3. odau 1 U (Water Nozzel 1 Pg) i T Power 1600W
4. angeno PYC 1 18U (pvC Hose 36 mm x 2 m) 3815 (How to use) iduwnuAuginanoiuidos 110
3 N AL z T _ 5 ~  Blade Diameter mm
9. D10 1 OU (Faucert 170 Tsaagaqaoe 15U Ruoou Fu Nsadov Yu IK&N — - .
6. IUSDMU 1 130 (Carbon brush 1 Set : Size 7x11x17 mm) NS S = = = Aowangoaalumsda at 45°%22 mm
i : 22 awnsnisldr viudaiania:aakno Max. Cutting Depth at 90°/34 mm
i i i r ile, tunansorinu
Used to cut various construction materials e.g. marble, stone, tile, ST SO 7x11x17 mm

concrete and steel. Can be used with both wet and dry cutting blade.
unoRowenoeneiw
Cable Length 2m

ol 22x23.3x18 cm

gumidound onoiulasare
gonun enifuaninc
aa nawlka rSoldsuunaBuoeoSEnsDd T

Read all safety warnings and all instructions, Failure to follow [RNERGLL L 3.8 kg
the warnings and instructions may result in electric shock, i Lans

fire or seridus injury. Gross Weight 4 kg

WARNING!




L]

9
Spare Parts

AGUTIVIU, Gf ]|

T _
\ T
-
LO

e
LLI
=
=
—2)
)
LL
—
=M
- O




O 00 SN o0 AW N

N NN NN NNNDNNRR RFB B B B B P B
© 0O ~N O Ul A W N P O © O N O U A W N P O

Description

Outer Hex Bolt M8x18-LH
QOuter Flange

Inner Flange

Inner Hex Screw M5x18
Oil Sealing

Gear Washer

Spindle

6002 Bearing

Internal Retaining Ring @32
Big Gear

606 Bearing

Front Cover

Washer

Gearcase

Screw M4x12

Faucet

Nut M7

Pinion

O Ring @26

Bearing 629

Bearing Pressplate
Armature

Baffle Plate

Screw @6xm5x40

Shoe

Lock Nut M5

Plate Washer @6x@12x1.5
Depth Adjustment Knob
Screw ST4x70A

QTY Price

N N e e =l = = = T T e e e e e e e e S e L S =i

MARBLE CUTTER 5 0 1 4

ASUTINY,. fti :J

Spare Parts

Description

Stator

Wiring Connector
Dust Proof Ring
608 Bearing
Switch Cap
Handle Cover
Cord Sleeve
Switch Sleeve
Screw ST4x14A
Swtich

Cord Pressplate
Wiring Cap
Wiring Connector
Motor Housing
Brush Cap

Carbon Brush
Brush Holder

O Ring 022
Bearing Pedestal
Rear Cover

Screw ST4x12BT
Screw M5x35
Screw ST4x16BT
Power Cord 2x0.75mm?
Water Pipe

T Type Socket Wrench
Water Connector

Square Hoel Wrench

QTY Price

—

P F R P P N WN R R R NNNRPREREERERPRNERRP PP PN




IHSODIB'I‘SODHSCIWI.ID
'WALL CHASEF

s,wmm
"'--J_UJ STRIAIL

UUUﬂOnﬂOCIUﬂ']HSLITISTmeOIUODIBUWmU
Lock on button for continuous operation.

J;

JopUMSNSINUOIASODO
uuEBUAUNSTZOU
Soft start for avoid the kickback
when operating machine.

UoIaoS]

misalavnuluiia

nsousovluda

P

-1

YU (Stze)

ULNOMSS (Sagment Dimarsizn]

UL fase)

FIUNSISOU (e, Spead]

2
12000 RPM

xg'lsL?mWiSthblades. ,3 NaoNs:aUAIUANUODNMISIBESOD USIONUDIU

riecioingooqawl JAWNI WAL WonWIARBSIumsIBou
uwna 1 to Depth adjustment knob, More width and thickness

Dust outlet. base design for cutting more stable.
@J’@l’? [HiEAICI=S
@ @ @ a@ luéamssn:sov nSawiiv
| vuna 5" owou 2 v
303-2 629-DW 6001-DU 6201-RS

4,800.-/PC

rhaoiwwh 2000 sac
Us:ansmwago 1urao
2000W Powerful motor design.

2 Pcs/Ctn

\ JOUAMDINATA (TECHNICAL DATA) ]
(3515 (How to use) ) JoIuh (Suggestion) ISOAUIWA B
E Rated Voltage
TBIDTS'ODWJOU__U WuRounga Ruseou Ruinsda IWOﬂ'ISTIJD'lUOU'IDUUS ansmw Aosiaenis 4R, ﬁ’T
annsnis1:So0dosLh I8:NSaWLDIUUIRD QuUNsAILNASTILLED Bl IMuU Rated Frequenc 50Hz
Faremos@ stable use the only circular saw blade and a Y
It is can use with the wall, concrete, marble, granite. accessories supplied Maxicut. ANUISISOU 6000RPM
It could with water to cutting and also dry cut. ( QUnsrﬂm ST (5 T fes) j No-Load Speed
e rhaoiwWh
1 UDUIASY 1 BU (Auxiliary side) Rated Input Power 2000W
2. nogawuona 100 18U (Dust outlet) cowsnall
3. Usandonaon 1 __Ohu (Socket wrench) Max. Cutting Depth 35 mm
4. Uszouhnene 1 U (Flat wrench) o
5. Wsormu 1 B (Carbon brush) Wadith 9-30 mm
6. iousovluGa e
- auna 31.5x20x5.5 Dwou 5 20 gunanusonu
_ auna 31.5x20x2 9?T1m P Carbon Brush 6.5x14x22 mm
yunanUENdanEiw
Cable Length 2 m
—l
JLNAINSDD
Dimension 30x24x18.5 cm
¥ -— ]
UNKUNINSoD
Net Weight 5.6 kg
LNrUNsowans

Gross Weight

8.75 kg




,

. E
5

—

SUM®

73 INDUSTRIAL
THE ROCK.OF,

" ' I ‘ '13

INSOVIBIESOVNS AWLID] -
WALL CHAS L5

025
o a1 ;ﬂ;j




INS ODIBIESOVNSAWLID
§)UM(.) ALL CHASE] _

71 C’ 7] Mu i 2
P, Spare Pa rts

No. Description i No. Description QTY  Price
1 | Outer Hex Bolt M6x18-LH 1 Small Steel Sleeve 1
2 | Outer Flange 1 Butterfly Screw 1
3 | Width Adjustment Plate 5 32 | Axiliary Handle Cover 1
4 | Inner Hex Screw 4 33 | Axiliary Handle 1
5 | Spindle 1 34 | Screw M5x20 1
6 | Oil Seal 1 35 | Logo Lable 1
7 | Front Cover 1 36 | Wiring Connector 2
8 | Washer 1 37 | Switch Cap 1
9 | 6201 Bearing 2 38 | Handle Cover 1
10 | Internal Retaining Ring @32 1 Switch Sleeve 1
11 | Gear Washer 1 Switch 1
12 | Big Gear 1 Wiring Cap 1
13 | Woodruffe Key 1 Cord Sleeve 1
14 | External Retaining Ring 1. Screw ST4Ax14F 4
15 | 608 Bearing 1 Cord Clamp 1
16 | Gearcase 1 Motor Housing 1
17 | 6001 Bearing 1 Brush Spring 2
18 | ORing 1 Carbon Brush 2
19 | Stainless Steel Washer 1 Brush Holder 2
20 | Armature 1 |1,070.- Rear Cover 1
21 | Baffle 1L Screw ST4x16 8
22 | Screw ST5x80A 2 Screw M5x45 3
23 | Stator 1 | 790.- Screw ST5x22f 1
24 | Stainless Steel Washer 1 Screw ST4x10 2
25 | 629 Bearing 1 Constant Power & Soft Start| 1
26 | Bearing Sleeve 1 Soft Start Box 1
27 | Shaft Screw 1 Dust Port 1
28 | Shoe . Screw M4x12 4
29 | Lock Nut M5 1 Power Cord 1




INSOVIADHIVIGOURZL
CIRCULAR SAW

2711 1

" : caordhg to ergonomics. Reducing fatigue for user's

~ Eﬁi[ﬁ nuulnddustnalkndennsnnalddosigooto Meaanou
osdnuooibio Tiudenadasehrsumsidonuciotiooilunanunu

Switch is large trigger, can reduce the fatigue by pressing with
two fingers. Have switch lock buttom for continuous operation.

nuum numuyy na:maamu
Accurate, Durable and

Full Power

msadavnu, n'\ﬂ"an&ODﬁUIUﬂU

GEORUTILD Bogiimsizonua:asnnndu
Special loop handle design for easier grasp when operating.

Safety guard made of aluminium.

Usuaas:dumsaleoniuluiia
Lower blade guard retracting level.

3,000.-/Pc

4Pcs/Carton

nauws ! Tuidowovidou 7" Maxicut
yaA1 350/ 1fu

-
—

— FRIRIEED sugsuvionnuiLAD

Tumsdooéhnsuilasuluidos
Hat rear end of motor housing is convenient
for replacing the saw blade.

r G MmN (asen Exwme) Sz : 71117 mm)
witlksoomudhuuonddiREoveraoniumsiUaau
ﬁ ﬂ BExtemal carbon cap design for easy replacement.

Wioaawe:aonlunsizonu
Big knob design for more comfortable when operating.

r'— Max. cutting depth UsUiBenaornmsadario 45°

S B Cutting angle adjustment to 457

at 90°/ 60 mm

626-Rz aos-zns somns PN (High]Class]Bearing),

WiUNISNaaoulsLAuWWAR

_ Passed The Electrical Test.

a2anovIAUUNENINSOEVEA
Hightest - Class Varnished Copper Wire.

iI800V

ClasSIR{230RC]

soedooruanduonAousounsiahwdsaEdanUsn
Safety plastic washer that protectsball bearings from dust and dirt.

High speed cold-rolled Siicon steel.

WanotslStaton)

GCERTNIENSF waubu-neoiaogothnsaahwwhiddanudo

= = n % e ;8
QNINGOUCDY "WIDIO0S UL 4-<y . msdnkso aomsinaus-melwidoidaadnunlsodinu
SnuMnnNJoonuMs Wear-resistant high-silver-copper commutator.
NSANNDINIFAGIGNNSoYUN b~
ONNQAINLNBSNNDEV08 { TS
snaAoWwsou latduliaiou

nowuﬁaomsoqonuciomsﬁnnse
- Wear resistant high precision gear shaft.

muauousdnsuwmu

nmmusauTaammnso rmrthfs:uneAWwsau

uetﬁumuajuwonnaﬂaum\IlJnmrhﬂaaoanm
Insulation with speclal shape, made of heat-resistant
material, high strength, cooling and like a blade

auousun 2 Avsadoonuiwwhanooos
MNDIABIKANUNIN:

The stator is enameled with Power Vamish which prevents
from the metal impact and theconcrete scraps entering.
It helps cool down and works asthe second insulated
layer toward off the short circuit when the metal scraps
get in.

| 38T5(How to use)

‘ which will shake the dust out.
TBehnsuciald Usuidewonmia:Aouan
Tumscdialdnio 45°

Cutting wood, cutting angle adjustment to 45° A gdou @ @

swuridoumonouUaoans laFmuuronua
‘ misluufuacuFiIdoula:rniuLh owiduaing
TRaniwwhga Inalwinl KSoldsSuunaRuoESEIsD

‘ Jolu:UN (Suggestion)

Womsionuoeobus:Ansmw Aosidonts
Tuidosoidou yooIUNBANIMUL Read all safety warnings and all instructions. Failure to

Foremost stable, use the only circular saw bladeand follow the warning sand instructions may result in
accessories supplied Maxicut. electric shock, fire or serious injury.

Z‘hm Parallel guide.

oy

‘ QUﬂSﬂjU'IHSg'IU (Standard Accessories) |

- Inddoda (Parallel Guide)

- uBondulioa (Socket Wrench)

- IWsoaw 7x11x17 mm
(Carbon Brush)

- luidosonidou Maxicut 7"

J8Uan1VINALA (TECHNICAL DATA)

IsoaulwwA

Rated Voltage 22 oV
AWAWWA

Rated Frequency 50Hz
AOUISoSOU

No-Load Speed 5000RPM
r&owwh

Rated Input Power 1 2 5 OW
Iduwhurusinenoiuidos

Blade Diameter ®»185 mm
AcuaNgoaalumsda at 45°/65 mm
Max. Cutting Depth at 90°/60 mm
yunanlsomu

Carbon Brush Tx11x17 mm
JUNOANUENDENE

Cable Length 2 m
Junaindeo

Dimension 29.5x23.5x17 cm
uhnun

Net Weight 4.2 kg




L:=f-

lﬂsamaaa:mmau 7y Model :

2711

ﬁmwwq




O© 00NN O U A W N B

W W w w w NN NMNNMNMNNMNMNNMNMNNMNMNMNMNOMNNRPREPERPRPRPRPRERPRRRPREBRE
A W NREFOOOWOWNOOUEAEWNREREO OOOOSNODUAMWDNEREO

Description

Inner Hex Screw M8x16
Flate Washer

Outer Flange

Inner Flange

Screw M4x10

Bearing Retaining Plate
Extension Spring (Long)
Lower Guard

6202 Bearing

Screw M4x12

Front Cover

Spindle

Woodruffe Key

Big Gear

Extension Retaining Ring
606 Bearing

Upper Guard Cover
Shoe

Butterfly Screw M6x10
Flate Washer

Butterfly Screw M6x15
Spring

Screw M8x25

Angle Adjustment Nut
Hex Nut

Screw M6x18

Rubber Column

Sping Pin

Red Gasket 7"

Earcase

Nut M8

Depth Lever

Screw M4x12

Screw M4x10

IAS2VIa eIV IdoURZLY

QTY Price

SO e = N e = e NN W e e e e e e e e e N e e e e B e e N

Viodel :

2711

aoUTINY 54
oy Qf
SPARE PARTS

Description

6001 Bearing
Spindle Lock Spring
Spindle Lock Pin
Armature

@8 Stainless Steel Flat
Gasket

608 Bearing

Baffle

Screw M5x60
Stator

Wiring Connector
Wiring Cap

Hex Nut M4

Black Bean M5x5
Right Handle

Cord Clamp

Screw ST4x14A
Motor Housing
Screw ST4x18
Auxiliary Handle Cover
Screw M4x20
Screw M5x30
Brush Holder
Carbon Brush
Brush Cap

Tighten Screw M5x10
Rear Cover

Screw M5x25
Screw St4x16
Power Cord

Cord Sleeve

Switch

Hex Wrench
Parallel Guide

QTY Price

=== W N R NN WR R R SNRERERENRERERN RN




@i}

-

@iﬂym@m@f

INSavIAaaILIGOU
CIRCULAR SAW

Vlodel :

2923

uucNUasSs:maas WeaanowidesénuevdodowBluru:noiu
designed according to ergonomics. Reducing fatigue for user's wrist while working.

Bunuuindluyinaladannsnnalddossento Weoaonowidoadn

voolodo IJlJUGOI"'IﬁOGDﬁ"IhBUﬂ’IS']IjD"IUCIOIUODﬂUIOG"IU"IU

Switch is fargemgger can reduce the fatigue by pressing with two fingers. Have
switch lock buttom for continuous operation.

eoniuuWesagliimsioua: CIOﬂU"I"IUU
The bigger handle, designed for easier grasp when operating.

ooniuuiFsuBaUWoAULUACIUMSAD
owéhnsulaauluidos

Flat rear end of motor housing is convenient for
replacing the saw blade.

. mismhm
l(Carbon)Brush)]
(Size : 7x17x16.5 mm)

whiaseomuduuendoingoo
a:0onlumsiUasu

=

2l ' External carbon cap design for easy replacement.
.;’ g .
629-Rs  6200-Rz 6201Rs szu&ns 7t @miﬁﬂ}@
lIHJUK AU U] GO ERF T Wondwa:aonlumslizoiu
. % & Big knob design for more comfortable when
BoeUoonuanUuoinAouseu WALIBU-NODIADED X 4 \ operating.
nS.lﬂW\lﬂ:ﬂDﬂnUSﬂ u—mmﬂwﬂaq = U
Safety plastic washer that protects ahusnUsuiSanoo
ball bearings from cust and dirt nudems&nkso umsdanio 45°
e W ﬁm uﬁns 4 ao Ehi‘lSUC'ICIC'IOHQ"IU Cutting angle adjustment to 45
|u0|ﬂaaa'nU|Usomu r 2 e TG00
lﬁ:rm high-silver-copper WVE)F'IO"IUUGOC‘II"IE.IUODV!TDD"IU weolBouilbuinSevidosovidou T ing
p Movable guard for better protecting ||UUC'IDTCI : ¥
end user safety. 4 pcs bolt for base fixing when you need at 45“ / 70 mm
m this machine as table saw. 90° / 80
ADWINENASDED s i
nucioMs&nnseo
= Wear resislant high

¥ pracision gear shafl.

iduaususUnsvwiAsj

mmnoﬂnnnunmuseu‘laao ﬂU\)ISD
rrﬂnrmmmux)u iauEtoUiuvn
AreaaUawWuRimIkhaaoonid

Insulation with spec:la] shape, ITE.dE of heat- rES|51ant
material, high strength cooling and like a blade which
will shake the dust out.

M

gUNSNIUIAST U (Standard Accessories)

m O uvdondudocwuna 13 mm
(Socket Wrench 1 Pc)

W IUsbnu 7x17x16.5 mm
(Carbon Brush 1 Set)

B ans & MSUSaNUICHADS (Bolt 4 Pcs)

(5515 (How to usel)

T5ehnsucall) eanunsnUsSUIBevODAIA:
AoWwanlunsdaldno 45
Cutting wood, cutting angle adjustment to 45°

(6OIIU:LI'1 {Suggestion})

Womsloueghodus:ansmw nosiden
Bluidosovidou vevIINBANINGU

Foremost stable, use the only circular saw blade
and accessories supplied Maxicut.

4,200.-/Pc

2 Pcs/Carton

Jalan1vINATA (TecHNICAL DATA)

nIsoauiwwh

Rated Voltage 2 20 V
AOWURIWWA

Rated Frequency 50Hz
ADUIS0SOU

No-Load Speed 3 30 O R P M
mMaoiwwh

Rated Input Power 23 O O W
iduwhuaugnanoluidos

Blade Diameter ©®235 mm
AWaNaoaalumsda at 45°%70 mm
Max. Cutting Depth at 90°/80 mm
yunaisomu

Carbon Brush 1 7)(165 mim
uunaaowenoaelw

Cable Length 2 m
yuan3oD

Dimension 375}(265}(27 cm
Uhrun

Net Weight 7.5 kg




= ,- auiiau @]] ) 9“"2“%




INSOVIADH:

Sl g,
=] =JA\= =g =JA\ =3 k=]

Description QTY Price Description QTY Price

O 00 N O U A WN R

W W W wWw NN NN NDNMNNDNMNDNNNNERPRE R RPRPRPRRPRRPRRRERERERRE
W N P O O 00N O U AW NE OO OLONO U A WNPRFE O

Upper Guard Cover
Bolt M8x16

Outer Flange

Inner Flange
External Retaining Ring @47
Lower Guard

Screw M5x16

Front Cover

Spindle

Square Key 4x4x12
6203 Bearing
Internal Retaining Ring @40
Big Gear

External Retaining Ring
629 Bearing

Screw M6x20
Rubber Column
Screw M4x8
Extension Spring
Screw M5x40

Screw M5x30

Screw M8x25
Gearcase

Nut M8

Screw M4x18

Depth Lever

Screw M4x16

6201 Bearing
Washer

Spindle Lock Button
Armature

Screw M5x75

Baffle

=

R N R R R R WRRRRRNNRNRRRRRRR R R RBAR R 2 B @2

Stator

Washer @10x@18x0.5
6200 Bearing

Motor Housing

Brush Cap

Carbon Brush

Brush Holder

Screw M5x10

Rear Cover

Screw M4x12

Screw ST4x14F

Cord Pressplate

Screw ST4x16F

Screw M5x25

M5x30

Nut M5

Right Handle & Left Handle
Side Cover (Left Handle)
Side Cover (Right Handle)
Wiring Connector
Wiring Connector
Switch

Power Cord

Cord Sleeve

Shoe

screw M8x50

Washer @8x@20x2
Angle Adjustment Wheel
Lock Nut M6

Screw M6x12

Nut M6

Self Lock

Split Ring

=

P PP NRRPNRPRRRPENNRRPRENRERERDERNDAMRNNNNIERELRER




¥,

SUMO
INDUSTRIAL

whasavluiaay
Jooriuluidosiau
doluunu:indoo
Mo

UJudsuanm
Usuuugeool

**inuluidos 10"x40T

OUNSNUNASTNU (Standard Accessories)

satioaUs:nould:
(Screw and nuts)

3815 (How to use)
Bsouruiuidogonidiou uuna @10"

IKu:érnsSU (Suitable for)
o wIIAoIU

TuidosiansnUsuidavla 0-45°

IS0V : POWER TOOLS

laZinsopiagaaniaouklo:

Table Saw 2 1 1 &
[s]

r

nodnynnA
rnthigaiAuil

awn
éhnsucodalrtunuoaso

anUadons?
arsudonsd

8,500.-/Pc

1 Pc/Carton

deyamvINAGA (Technical Data) [0

ISOAUIWWA 220V
Rated Voltage
AWAIWWA 50Hz
Rated Frequency
Maviwwh 1800W
Rated Input Power
F’IO']UI§OSOUTUI§OEI 5000RPM
No-Load Speed Saw

= 1
yunaluidos 10" (@250 mm)
Blade Size
yunalce 640x487 mm
Table Size
msideuoviuidos 0°~45°

Body Tilting Range

AOWANIUNSAQ  90°:85 mm/45°:60 mm
Max Cutting Depth

Tuchikuo 90° anunsndaldan 75 uu.

WURDOBUMUAUWD 2 1 640x200 mm
2-Side Extension Table

Tuchikuo 45° anunsndaldan 60 uu.

WURDOBUUAUKED 427x280mm
Back Extension Table

AOWENOaNaW 2 m
Cable Length

thrun 21 kg
Weigh

Category 08



.. [izins opiagaaiaeuliok
m Table Saw 2 1 1 &

Gl =1

AXUTNINY dip4 ? o

InSoLoEv : POWER TOOLS Category 08



[G5insoniagaavIaouOL
SUMO ¢ Table Saw 2 1 1 @

=)0

DOUTINU 6

Sr.No Description Thai Name QTyY Price Remak
1 Table insert

2 Screws

3 Screw

4 Screw

5 Table

6 Spring washer

7 Carriage bolt

8

Chain bar
9 Chain bar end cap(left)
10 Scale

11 Chain bar end cap(Right)
12  front mount

13 Nut

14 rear mount

15 eccentric lever

o+

16 Pin

17  Nut

18 End cap

19 Socket screw
20 wing nut

21  parallel stop

22 Carriage bolt

23 Rip fence back end cap
24 Stop rail

25 Rip fence front end cap
26 self tapping screws

27 Rip fence indicator

28 parallel stop

29 Hex bolt

30 self tapping screws

31 Rod - miter gauge

32 Miter gauge indicator
33 Cross head screws

34 Carriage bolt

35 End cap

36 Miter gauge stop rail
37 End cap

38 Knob

39 Washer

40 Miter gauge

41 Self tapping screws
42 Motor end cap

43 Self tapping screws
44  Brush holder

45 Carbon brush

46 Screw

47 Spring washer

48 Washer

49 Motor house

50 Strain relief

51  Warning label

52 Carriage bolt

100.-

N I N Il S I N R N B T R T I T T S O e e e e e e N I N . I I e e e e e T T I A A N I O = ey
B

InSoLoE1v : POWER TOOLS Category 08



. lGsinsoviaousiaolKIOL
% v Table Saw 21 1 @

.. ""

Sr.No Description Thai Name QTy Price Remak
53 self tapping screws
54 Left blade guard
55 Right blade guard
56 Lock knob
57 bearing sleeve
58 Bearing
59 Stator Wanouad 400.-
60 self tapping screws
61 Armature assembly rnu 1,100.-
62 motor connect line )
63 Bearing
64 baffle
65 Gear housing
66 Set screw
67 Riving knife bracket
68 Riving knife
69 Hex bolt
70 Riving knife clamp
7 C-ring
72  Gear 220.-
73 Screw
74 Bearing
75 Bearing cover plate
76 Arbor
77 Flat key
78 Spring washer
79 Screw

80 Motor bracket

81 Cross flat head screw
82 Pivot plate-front

83 Lock nut

84 Pivot plate-Rear

85 Lower blade guard

86 Inner blade flange

87 Washer

88 Screw

89 Blade

90 Outter blade flange
91 Hex bolt

92 Dust chute

93 Extraction hose
94 Washer

95 Cross head screw
96 Press plate

97 Lower blade guard plate
98 Spring

99 Washer

100 bevel indicator
101 mount plate

102 Washer

103 Spring

104 Bevel lock knob

e R O T 2 I T T T N T N S X R i S N O N S R e e e e N U U T TS

InSoVos1v : POWER TOOLS Category 08



7

SUMO
INDUSTRIAL

Sr.No Description Thai Name QTY Price Remak
105 Bracket - driving rod
106 Washer

107 Bevel gear

108 Bushing - driving rod
109  Actuating arm

110  Screw

111 Knob

112 Rating label

113 Bevel crank wheel
114 Bevel gear wheel

115  Spring
116  Spring pin
117  Screw

118 Bevel gear pad

119 Elevation crank shaft

120 Doublet nut

121 Power cord

122  Push stick

123  Pusch stick block collections
124 Cable sheath

125 Cord press plate

126  Self tapping screws

127 90 angle adjustment wheel
128 Hex bolt

129 Pad for cord clamp on switch box
130 Switch

131  Capacitor

132 Switch box

133 Cross flat head screw

134 Rack

135 bevel scale

136 45 angle adjustment wheel
137 Cabinet logo

138 Safe operation symbols
139 Cabinet

140 Carriage bolt

141 Knob ring

142 Washer

143 Wrench a

144 wrench b

145 hex bolt

146 Square nut

o

147 Nut 6
148 Cross struts b

149 legsa

150 Foot

151 Cross struts ¢

152  stability bar

153 Pin

154 Limit block

155 Table support bar
156 Rear extension table

B e e O T T I N T N T S S S e i e S T O R e e G T T S . e T R S T N R T e S S e S S e e N )

InSoVjos1v : POWER TOOLS Category 08



» l[asinsaviaoaaviaouliloL
ﬁ%ﬁ _ (ﬁ Table Saw 21 1 &

[=]
p- R A
BAUTNINY oy ..? LN

Sr.No Description Thai Name QTyY Price Remak

157  Over-load protection connecting line
158 Over-load protectioncord

159 Extension table

160 Rear extension table support bar

P Py = =

InSovoEIvY : POWER TOOLS Category 08



InSoviaoaluiiaf 5" mode:: SUMO

TWIN CUTTER 1SMIESS) ISINDUSTRIAL
-3

HERROCISO K

POWER
A A ]

LM AATERS

yar 1,400.-

aunsnuiasuTudam
114005/

'soosumsiBounu Tudamss
(hj'hmuumnsan anunsnaosomuid)
ansuda : nsatoo 3y laRusou

IKUN:anSU (Suitable for)

vwudnensomurioasionoll

oUNSNUNAOSTNU (Standard Accessories)

- TudoaUoANDAIOU(Twin Tungsten Blades)x2

- NEOVINSOVLOIUUNAD (Hard Case with Handle)x1
- D1s:UlIUUIIND (Lubricating Sticks)x6

- Us:IID(Wrench)x1

5815 (How to use)

- Tsruludositad uuna 5" Ksoludamwss
oA uwa 5" .
- 1doniBludalhinun:iudaano:mnisda

ACUAUUG (Feature) = = —
deyan1oinAlA (Technical Data) [=]]

AUMwaowsSoudoaabuoouoios 1200W rmiwdomsaadaqcnoiick S

IaeUALADsiuBosTUSAITED mmsnTnsoumTusaoammaTucnwusTumn uuna 5" gg?gu\l\ﬂz\e 220V
e a

ArUANUNEYODIUIGOY (Blade) AUAMWA 50Hz

e awnsndadsiuesa I wanadn na:nan Rated Frequency

e Tudos A Duuna 125 bu. KN 1.25 bu. IBUWIAUENaND 28 L. ACWNSVIUMSAA 1.5 WU, FdolwwA 1200W

e fudos B Duuna 125 wu. run 1.25 uu. IduwiAuegnad 19 . AOWNSOIUMSAA 1.7 . Rated Input Power

o luidosRirnowaniumsdaavaan 30-40 wu. =

« Tubanuuludnunu:RgoumdRUNRdaldEIDodadaqIsd doidosiuduiidGngu FNIOO'ILliaISdOSS;C()el:d 3300REN

e auNsndadaqcios) I su 1IJ wanadn indn alauiaa noviad oaliliey Ia-Ausou = - -

o luiRauounusys: o Tinaniduinwidne AL Btk qu‘w""d’l S

o Tuinamswixiu e ludms&uasifiou S Sunning Cogeh. ANt resi2mm
Lidonai auq (Other Metals) 3mm

o 1l U

e daldasonnasonidou ia:daldauysniiuuiaune AOENOENEIW 2.1m

- Counter rotating blades Cable Le_n:gth

- Each tooth laser honed

= Can cut through any material such as wood, plastic, steel, stainless steel, copper and aluminium ghjnﬁgfnoo 12xexibcm

- No Splinters! - No Burning! =

- No Vibrations! - No Kick Back! unKun 3.6kg

- Clean straight cut every time & always clean perfect cuts! Weight




Tuiladhnsu Modiel : ®
nSoviosluiag 5 TSIEES) Mg >V MO

BLADE for TWIN CUTTER INDUSTRIAL

JEaR OGO 2L S/ J

A 0

lusiamosiag D)

& KSUAQ
— il = -, @wnsudaq :

ns:1Uo0 &9 llarhuoou
USE FOR : Tile, Brick and Marble.

2KM K 1200 X 12
[ MAX. SPEED: §100RPM
~ PROFESSIBNAL Oule Blade (THIS SIDE LP)

XM X 120X 12 Lo | syea1a0aumM (SPECIFICATIONS)

PEED: B.D0ORPM
dn {THIE EICE UP)

Tubadulu 125x28x2mm 12S
Blade Inner :

TuDaduuon 125x19x2mm 12S

Blade Outer :
Blade B

FD’]UISOSOUHDHG p
Max Speed 6,000r/min

AWKLNIuMsAQ
Cutting Capacity :

gT?,SD 2 Pcs

28mm

SENNIUABNNIL arsansnh [UAAINTS SR
uﬁﬂ‘i"ﬂaunumﬁnmaﬂ'h_jﬁﬂuuan NanMewn - 0.21 kg
Tunsdinignilezinnnsziiias a5 uaziivaau

1/ /4

= ansuaa :
\ TWIN TCT BLADES \\\\ = 35wosa IJ wanadn a:1néan

B T T T USE FOR : VIVA Board, Wood, Plastic and Metal.
AN - 2 BLADES INCLUDED

SNAIDEQAUA (SPECIFICATIONS)

Tudadulu 125x28x1.5mm 32T
: Blade Inner :
f '3 Tubaduuon
Y J Bl Gt 125x19x1.5mm 32T
mwursosouaoao :
Max Speed : 6,000r/min
AWKWNuMsda 10
Cutting Capacity : Wood 28mm
Ianoou
ﬂ Soft Metals 3mm
Vi J : IKaNIJo
1 = Hard Metals 2mm
- IBansudansunsairuu
- AosasugUNsnidooriu U 1IsucNuaIna ounsndaaiden widaoun lanoldo
- AadvludesiigndecmURANDMSHLU uUss 2P
= 01unuoms'fbmun|nsen|aoa'lwwﬂuuaﬂ'hm*l'fcnoums'ﬁjmunnnso any «° cs
- For masonry cutting only.
- Always wear eye, ear, respiratory and glove protection. - —
- Always use sharp blades. L : LNKunN
- Mount the blade securely in the proper direction of rotation. : . 0.24 kg
- Please refer to the power tool instruction manual for correct blade mounting Net Weight :

and operation instruction.




TWIN CUTTER

InSoviaosluiiag 5" Voce!: ®
TSHEED s

INDUSTRIAL

o (7)) [
e / Wax Stics
o 3 i *‘H—-.__.____,
Optional: lusimwase 5” — -
0
47 o
45 < e ) 120.-/NAaaN
y T 7 Wz Sﬁxd,%@ U759 6 UW
|\ L . Bognaoaulis:riowludos
' 8 —— luinamsi&gadnuoulhu

3.

+ @ vounu 80.-/pc.
11
2 @ uhUasavnninu
35— 25.-/pc.
14
15
16



InSoviaouluiiag 5" Mo SUMO

TWIN CUTTER e I=E1S) INDUSTRIAL

o)
2

Sr.No Description Thai Name
1 Lock Nut
2 Quter Blade (Blade B)
3 Inner Blade (Blade A)
4. Arbour Nut

5. Circlip for Hole 24

6

i

8

9

Price Remak

1,400.-/Set 2Pc/Set
1,400.-/Set 2Pc/Set

Ball Bearing 61901-2Z

Set Screw
Inner Driver
: Spindle
10. Hexagon Socket Head Cap Screws M6x10
1. Pin

12. Help Handle Base

13. Hexagon Socket Head Cap Screws M8x12
14. Standard Sping Washer 8

15. Cap Nut M8

16. Handle Bracket

17. Help Handle

18. Knob
19. Hex Nut
20 Spring

21. Tapping Screw ST4.2*30

22. Rubber Cap 480.-/Pc
23. Gear Case

24. Ball Bearing 608-2RS

25. Bearing Clamp

26. Countersunk Screw M4x6

27. Big gear B 100.-/Pc

28. Washer

29. Ball Bearing 6001-2Z
30. Big gear A

31. Circlip for Hole 42

32. Ball Bearing 61806-2Z
33. Packing Gland

34. Plain washer

35. Standard Spring washer
36. Screw M4x16

37. Guard Sleeve

38. Hexagon Socket Head Cap Screws M5x20
39. Standard Spring washer
40. Plain Washer

41. Fixed Guard

42. Tapping Screw ST4.8x13
43. Lubricating Unit

44. Wax Sticks

45. Rubber pin

46. Guard Washer

47. Box Wrench

48. Retractable Guard

49. Spring

50. Guard Sleeve

54. Circlip for Shaft 10

55. Ball Bearing 6000-2Z2
56. O-ring 25%2

et et e et * L I N el o Bttt Bl Bl - Tt e 1 e et




iInSoviaoaluiiad 5" Mode: §UM6

TWIN CUTTER eSS INDUSTRIAL

Sr.No Description Thai Name QY Price Remak
57. Intermediate Cover
58. Y4 Armature 800.-/Pc
59. Ball Bearing 607-2Z
60. Bearing Sleeve
61. Fan Guide
62. Tapping Screw ST4.2*70
63A. Stator
64. Housing
65. Brush Holder 80.-/Pc
66. Carbon Brush 100.-/Pc
67. Brush Cap 25.-/Pc

68. Left Handle

69. Cap

71. Tapping Screw ST4.2x30
72. Right handle

73. Switch

74. Switch Cap

75. Terminal

76. Capacitor

77. Cord Clip

78. Tapping Screw St4.2*16
79. Cord Armor

80. Power Cord, 2.2m

i * Rl I S R

== =y




